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QUESTION 1

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume
that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable rounding the reorder quantity.
What will be the reorder quantity? 

A. 30 

B. 24 

C. 25 

D. 20 

Correct Answer: D 

https://fusionhelp.oracle.com/fscmUI/topic/TopicId_P_8B35A040501ED5BEE040D30A688 11E49 

Example: Specifying the Fixed Lot MultipleAssume that the reorder quantity is 24. If you specify 10 for the fixed lot
multiple and enable rounding the reorder quantity, the reorder quantity is rounded up to 30. If you disable rounding the
reorder quantity, the reorder quantity is rounded down to 20. 

 

QUESTION 2

Your organization is planning for a periodic counting of individual items automatically throughout the course of the year.
As part of this activity, the user has loaded items to the cycle count but some of the Items are not being considered
when count schedules and count sequences are not generated. 

Identify two reasons that explain why the items are not being considered. 

A. The Cycle Count Enabled flag is not selected for the item. 

B. The approval controls are not set up. 

C. The Include in Schedule option is not selected to include the item for auto-scheduling. 

D. The Cycle Count Enabled flag is not selected for the inventory organization. 

E. The ABC assignment group is not defined. 

Correct Answer: BE 

 

QUESTION 3

Your customer decides to implement Cloud Procurement and Inventory. While discussing with your customer, you come
to know that they have a business that spans across multiple locations and they have warehouses situated across USA
and Canada. 

1.

 All their procurement, payables, and distribution activities take place from USA. 
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2.

 They have a central warehouse in USA and after the goods are delivered to this warehouse, they are distributed across
multiple additional warehouses. The warehouses are managed separately from the requisitioning units. 

3.

 For requesting material they have two units. One located in USA that monitors the current stock. They are responsible
for creating requisition for any material shortage in USA. they have another location in Canada for requesting material. 

Which setup fulfills this scenario? 

A. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where Canada procurement business unit serves as
procurement and payables service provider for only Canada requisitioning Business Unit 

B. BU1: USA - as procurement and requisitioning Business Unit (BU) BU2: Canada - as requisitioning Business Unit
Define Service provider relationship where Canada procurement business unit serves as procurement and payables
service provider for Canada Requisitioning Business Unit 

C. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as
procurement and payables service provider for both Canada and USA requisitioning Business Units 

D. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as
procurement and payables service provider for only Canada requisitioning Business Unit 

Correct Answer: D 

 

QUESTION 4

In Supply Chain Orchestration, Automated Change Management performs which two functions? 

A. changing the ship method on a sales order 

B. change to need by dates of a purchase order 

C. splitting of a sales order 

D. change to item attributes 

E. changing the supplier on a purchase order 

Correct Answer: C 

 

QUESTION 5

During Cloud Inventory implementation your customer requires you to enable the Oracle Transactional Business
Intelligence (OTBI) KPI to review the list of standard reports which is useful for their Current business scenario. When
navigating to reports and analytics, the warehouse dashboard doesn\\'t show any KPI watchlist. 

Identify two causes. 
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A. Supply Chain and Order Management Business Intelligence Analytics is not enabled. 

B. Logistics Business Intelligence Analytics is enabled. 

C. Organization is not enabled for warehousing. 

D. Data permissions for the organization being referenced are not set up. 

E. Logistics Business Intelligence Analytics is not implemented. 

Correct Answer: AE 
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